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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Câu 1: 
A. difficulty 
B. exercising
C. military
D. significance
Câu 2: 
A. officials 
B. billiards
C. suggests
D. collections 
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Câu 3: 
A. maximum 
B. medicine 
C. volunteer
D. minimize
Câu 4: 
A. comment
B. attempt
C. famine
D. measure
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Câu 5: The structure consisted ......... approximately 2 million blocks of stone.


A. in
B. on
C. of
D. with
Câu 6: If I had a million USD, I ......... that house.


A. would have bought
B. bought
C. will buy
D. would buy
Câu 7: The earthquake in Indonesia many years ago was a terrible ......... .


A. famine
B. epidemic
C. emergency
D. catastrophe
Câu 8: He decided to take an intensive course in the hope that he would ......... his classmates.

A. run out of
B. get through to
C. face up to
D. catch up with
Câu 9: These postcards always ........ me of the wonderful winter holiday we had in Australia.

A. remember
B. revise
C. reflect
D. remind
Câu 10: Throughout the 1970s, ASEAN embarked on a program of economic ......... .

A. cooperation
B. cooperatively
C. cooperate
D. cooperative
Câu 11: When we arrived at the restaurant, the others .......... .


A. had left
B. have left
C. are leaving
D. left
Câu 12: Mary accused John ......... her bicycle.


A. of damaging
B. about damaging
C. about damage
D. of damage
Câu 13: We took this one last holiday, .........?


A. did we
B. didn’t we
C. didn’t they
D. did they
Câu 14: It is not easy to ......... our beauty when we get older and older.


A. collect
B. gain
C. maintain
D. develop
Câu 15: He had stolen my money; I didn’t want to .......... a fuss, so I decided just to take my money back from his schoolbag.

A. look
B. make
C. go
D. do
Câu 16: She ......... at the office yeterday because she was on a business trip abroad.


A. can't have been
B. must have been
C. shouldn't have been
D. might have been
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Câu 17: You must drive it home to him that spending too much time playing computer games will do him no good.

A. give him a lift home
B. make him understand
C. let him drive his car
D. allow him to stay
Câu 18: Jean Henri Dunant was appalled by the almost complete lack of care for wounded soldiers.


A. dedicated
B. interested
C. shocked
D. excited
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Câu 19: When he passes the entrance exam, his parents will be walking on air.

A. feeling extremely angry
B. feeling extremely unhappy

C. extremely happy
D. extremely light
Câu 20: Mrs. Wilson was filled with joy when she heard that her daughter had won a scholarship for university study.


A. grief
B. anger
C. achievement
D. ecstasy
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Câu 21: John and Alice are talking about going to the movie.


John: "I was wondering if you’d like to go to a movie tonight." 

 
Alice: "......... . What’s playing?"


A. No, I don’t like it
B. Yes, I did
C. Sure, I’d love to!
D. No, thanks
Câu 22: Linda thanks Daniel for his birthday present.


Linda: "Thanks for the book. I've been looking for it for months." 


Daniel: "........"


A. I'm glad you like it.
B. You can say that again.

C. Thank you for looking for it.
D. I like reading books, glad you like it.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Câu 23: The first things a new international student must do include renting an apartment,
                   A                                                                                   B 

registering for classes, and to get to know the city.
                    C                       D 

Câu 24: The Caldecott Medal, awarded annual to the best illustrated children's book, is one
                                                                       A               B                                                  C 

award that identifies excellent books.
                       D 

Câu 25: Only when we agree what measures are needed, we will be able to show the problem.
                                                     A                    B                     C                       D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 26 to 30.

Do you think games are just for kids? Then you should think again. You might be surprised to learn that the games industry now __( 26 )__ more money than Hollywood. From 2009 to 2012, the U.S. video game industry increased in size by more than 9 percent - four times the growth rate of the U.S. economy during the same period. __( 27 )__ a family buys a new PC, all they really want to do is to play games. It is hardly surprising that video gaming has become one of the most popular __( 28 )__ of entertainment today. One study even showed that some mental disorder patients who played games requiring physical interaction while standing on a balance board displayed improvement afterward. A good game is like a good film, it will hold your __( 29 )__ , capture your imagination and play with your emotions.
The big __( 30 )__ , however, is that watching a movie is a passive task, you have to say in how the plot develops or which characters dominate the stories. With computer games, you direct the action and that is what makes them so exciting.

Câu 26: 
A. does
B. has
C. makes
D. gains
Câu 27: 
A. As long as
B. As far as
C. As well as
D. As soon as
Câu 28: 
A. forms
B. makes
C. shapes
D. branches
Câu 29: 
A. attention
B. breath
C. gaze
D. control
Câu 30: 
A. difference
B. direction
C. variety
D. gap
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 37.
Charity organisations are responsible for most of the help extended to the destitute. Each organisation caters to a different group of people.

The Red Cross is a well-known organisation that has centres in countries all over the world. It had its beginnings in a small Italian town in 1859. A fierce battle was taking place then and more than forty thousand people were wounded. The medical services of the army were inadequate. The situation horrified a Swiss businessman who then wrote a book depicting the dreadful situation. His book was the impetus for the setting up of charity organisations.

Today, countries emulate the workings of the Red Cross. They carry out fund raising activities to help children who cannot receive an education or victims of natural disasters. Both the young and old contribute willingly to these organisations. In fact, without these charity organisations, millions of people around the world would perish because of poverty or natural disasters.

In India, a compassionate woman started PUSS (Palli Unnayan Sevi Samiti). Supported by social workers and teachers, she has helped hundreds of children receive a proper education. Without her help, the literacy rate in India would be much lower than what it is today.

Charity organisations are crucial today. They cannot function without the benevolent people who help to run these organisations.
Câu 31: The first centre of the Red Cross was in ……… .

A. Italy
B. Switzerland
C. India
D. Singapore
Câu 32: The Red Cross was first set up to help ……… .

A. injured soldiers
B. children with no education

C. victims of natural disasters
D. sick children
Câu 33: What was the businessman’s book (paragraph 2) about?

A. People suffering in a war
B. How the rich can help the poor

C. Sick children
D. Different charity organisations
Câu 34: Charity organisations obtain their funds through ……… .

A. victims
B. donations
C. the Red Cross
D. the government
Câu 35: The highlighted word "perish" in passage 3 is closest in meaning to ……… .


A. suffer
B. forget
C. die
D. hurt
Câu 36: According to the passage, India is facing the problem of ……… .

A. poor and hungry children
B. large numbers of uneducated children

C. children with no homes
D. natural disasters
Câu 37: According to the passage, which of the following statements is NOT true?

A. There are many charity organisations all over the world.

B. PUSS helped increase the literacy rate in India.

C. People of different ages contribute to charity organisations.

D. The Red Cross only helps victims of natural disasters.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 38 to 45.

Employees in many countries change jobs more often than previous generations of workers. They don't expect to find a job with a company that will take care of them for the rest of their lives. But what is the cause of this trend? Is it a new economy, new ways of doing business, or the employees themselves?

A more globalized economy has had an effect on employment. A large number of companies are now international, and one of them may decide that moving its offices from Germany to Poland, for example, is in its best interest. That means employees who live and work in Germany may be asked to relocate their families to a new country or be told that their jobs are simply eliminated.

Companies have also responded to economic pressures by restructuring for greater efficiency. This sort of change within a company usually means that unnecessary jobs arc cut, or that fewer employees must do more work. In either case, some employees find themselves looking for new jobs.

New technology has also had an impact on workplaces. The increasing use of personal computers has meant fewer jobs for office secretaries, as their former bosses do their own word processing and letter writing, and for travel agents, as more travelers make their own reservations online. Automation, including the use of robotic devices, has replaced workers in clothing factories, post offices, and telephone companies, to name just a few.

Besides these economic and technological reasons, today's employees arc also responsible for more frequent job changes. Workers in the past were less likely to leave a company because they were dissatisfied with working conditions or because they didn't get along well with their fellow employees. People today expect to enjoy their work and to get a high degree of personal satisfaction from what they do for a living.

Employees may also leave a job because they have learned all they can learn from their current job. Getting a new job means gaining new skills and making new contracts, and these skills and relationships could bring them a step closer to their "dream job", the one that is challenging, emotionally and financially rewarding, and preferably closer to home or their children's school.

Finally, companies start up and close down more quickly than they once did. Employees who suspect that their employer is not doing well may decide to start looking for a new position before the company closes its doors.
Câu 38: The passage is mainly about ........ .

A. reasons employees change jobs more frequently than they did in the past

B. ways in which international companies have caused a loss of jobs

C. the contrast between employers of the past and employers nowadays

D. reasons companies aren't taking care of employees as they once did
Câu 39: How has globalization affected employment?

A. Employees in Western Europe are at a disadvantage.

B. Employees may refuse to move to a different country.

C. Companies are not interested in keeping employees.

D. Companies may relocate and cut jobs.
Câu 40: It can be understood from the passage that, nowadays, ......... .

A. employees sometimes falsely think they have learned all they can learn from their present jobs

B. employees leave their jobs more because they can't have a good relationship with other co-workers

C. clothing factories, post offices and telephone companies are the only places using automation

D. employees are actually as happy with their jobs as their fathers and grandfathers were with theirs
Câu 41: Which of the following is NOT part of most people's dream job?

A. lots of money
B. a long commute
C. challenging work
D. emotional rewards
Câu 42: The word "they" in paragraph 5 refers to ......... .

A. people today
B. working conditions
C. workers in the past
D. fellow employees
Câu 43: The phrase "closes its doors" in the last sentence probably means ......... .

A. dismisses its workers
B. stops a working day
C. stops doing business
D. shuts all its doors
Câu 44: According to the passage, all of the following are true EXCEPT ......... .

A. employees have no right to follow their dream of getting an excellent job

B. some international companies may decide to move their offices to new places

C. some travel agents have been affected because of new technologies

D. sometimes higher efficiency conics from cutting unnecessary jobs
Câu 45: What is one reason employees might keep their current jobs nowadays?

A. They want a higher salary and more benefits.

B. They are happy and satisfied with their work.

C. Their employers provide bad working conditions.

D. They are worried when the company is not successful.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Câu 46: He is very intelligent. He can solve all the problems in no time.

A. An intelligent student is he that he can solve all the problems in no time.

B. So intelligent a student is he that he can solve all the problems in no time.

C. So intelligent is he that he can solve all the problems in no time.

D. He is very intelligent that he can solve all the problems in no time.
Câu 47: The blouse is a little too loose. You'd better ask your tailor to take it in.

A. The blouse is little as you asked your tailor to take it in.

B. The blouse is lost as you didn’t ask your tailor to take it in.

C. You'd better have the blouse taken in as it is too loose.

D. Your tailor is asked to take your blouse in a little.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following sentences.
Câu 48: As soon as he waved his hand, she turned away.


A. No sooner had he waved his hand than she turned away.

B. He saw her turn away and he waved his hand.

C. She turned away because he waved his hand.

D. He waved his hand and at once she turned away.
Câu 49: They were late for the meeting because of the heavy snow.


A. But for the heavily snow, they wouldn't have been late for the meeting.

B. If it snowed heavily, they would be late for the meeting.

C. If it didn't snow heavily, they wouldn’t be late for the meeting.

D. Had it not snowed heavily, they wouldn't have been late for the meeting.
Câu 50: Without transportation, our modern society would not exist.


A. If transportation no longer exists, our modern society will not either.

B. Our modern society will not exist without having traffic.

C. Our modern society does not exist if there is no transportation.

D. If there were no transportation, our modern society would not exist.
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